Name;

Rroportions and Siilar Figures - Find Someone Who

Drections: 1. You ask the question

2. You record as your partner directs you
3. You partner initials once they have given you the final answer.

1) The figures are similar. Hnd the missing
length

Bcm

5em

2) The figures are similar. And the missi
lergth -

12 m

4m

3) The figures are sinrilar. Hnd the missing
length

4) The figures are similar. Hnd the missing
length

13 M o
N\ LR
1e /
2% cm 32cm
B) Thescaeof amapisicm :100m [6) Thescaleof amgpis1in : 175 m.

And the map distance if the actual distance
is #50m,

Fnd the actual distance if the mep distance
is5in




7) Atree casts a shadow that is 10 feet long. A
5 f oot woman standing nearby casts a shadow
thet is 4 f et lorg. How tall is the tree?

8) Two rectangies are similar. The firstis6in
wide ard 4 in long. The secord is 9 in wide.
Find the length of the second rectangle.

SAO Try these independently.

1) The figures are similar. Hnd the missing
length

B.2m

.

19.2m}

2) The figures are simlar. Find the missing
length

120 M

12 m 18 m.

3) Thescale of amepis0.25 cm: 16 km Frd
the actual distance if the mep distarceis2 cm

4) A scale model of atrainis being mede. The
actugl trainis 5 meters tall, 27 meters log ard 3
meters wide. If the scale model is 40.5
certimeters long, how wide is the scale model?

5) A tree casts a shadow 9 meters long. A 54
meter tall bulding nearby casts a shadow thet is
24 meters long. What is the heignt of the tree?

6) Two isosceles triangles are sinlar. The first
triangle has two sides that measure 6 in and one
side that is 5 in’ The second triangle has two
sides that measure 3 in Whet is the length of
the mrissing side on the secord triangle?




